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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Oogenesis ? Describe in detail. 

v.Mtuu D;k gS \ foLrkj ls le>kb,A 

2. Give an account of Ovulation. What factors control 

ovulation ? 

vksO;wys’ku dh O;k[;k dhft,A dkSu&dkSu ls dkjd 

vksO;wys’ku dks izHkkfor djrs gSa \ 

3. Give an account of germplasm theory. 

teZIykTe fl)kUr dk foLrkj ls o.kZu dhft,A 

4. Describe the corpus luteum and how is it formed and 

maintained. 

dkiZl Y;wfV;e dks le>kb;s vkSj ;g dSls curk gS rFkk 

dk;e jgrk gSA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the types of cleavage and the role of played by 

yolk on cleavage. 
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fonyu fdrus izdkj ls gksrk gS vkSj blesa ;ksd dh Hkwfedk 

D;k gksrh gS \ 

2. Give an account of gastrulation.  

xSLVªqys’ku dk foLrkj ls o.kZu dhft,A 

3. Describe the fate map. 

QsV eSi dks le>kb,A 

4. Write a note on epiboly. 

bficksyh ij ,d ys[k fyf[k,A 

5. Describe the tubulation. 

V~;wcwys’ku dh O;k[;k dhft,A 

6. What are cleidoic eggs ? Explain. 

flfy;ksMkbd v.Ms D;k gksrs gSa \ le>kb,A 

7. What is regeneration ? 

iqu#n~Hkou D;k gS \ 

8. What is the faetal membrane ? Explain. 

QsVy f>YYkh D;k gS \ le>kb,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. The process by which the zygote develops into a 

multicelluar and well organized being is called as 

ontogeny.   (True/False) 

,slh izfØ;k ftlesa tkbxksV dk fodkl gksdj cgqdksf’kdh; 

vkSj vPNh rjg leUo; gksus dks vkUVkstuh dgrs gSaA  

    ¼lR;@vlR;½ 

2. The prerequisite for the formation of embryo is 

gametogenesis. (True/False) 

Hkzw.k cuus ls igys dh rS;kjh dks xSesVkstSusfll dgrs gSaA  

    ¼lR;@vlR;½ 

3. Process by which an embryonic tissue influences other 

tissue to differentiate is called as induction.  

     (True/False) 

Hkzw.kh; Ård esa ftl izfØ;k esa vkSj Ård izHkkfor gksdj 

foHksnu djrs gSa mls baMD’ku dgrs gSaA ¼lR;@vlR;½ 

4. In testes androgens are produced by interstitial cells.  

     (True/False) 

o`”k.k esa] ,aMªkstu dh mRifŸk bUVjLVhf’k;y dksf’kdk }kjk 

gksrh gSA   ¼lR;@vlR;½ 



 [ 5 ] S-903 

 (A-110) P. T. O. 

5. Mitochondria are concentrated in the spermatid and 

form the neck parts of the sperm. (True/False)  

ekbVksdkfUMª;k LiesZfVM esa ‘kqØk.kq ds xnZu ij dsfUnzr jgrs 

gSaA    ¼lR;@vlR;½ 

6. The size of ovum in mammals is 4000  m.  

     (True/False) 

Lru/kkfj;ksa esa vksoe dk vkdkj 4000 m  gksrk gSA  

    ¼lR;@vlR;½ 

7. Primordial germ cells originate from the germinal 

epithelium.  (True/False) 

izkbekfMZ;y teZ dksf’kdk dk mn~Hko tfeZuy bfiFkhfy;e ls 

gksrk gSA   ¼lR;@vlR;½ 

8. In centrolecithal eggs, the usual type of cleavage is 

superficial.  (True/False) 

lUVªksfyf’kFky v.Mksa esa lkekU;r% fonyu lrgh izdkj dk 

gksrk gSA   ¼lR;@vlR;½ 

9. Fertilization takes place in upper oviduct. (True/False) 

fu”kspu Åijh vkfoMDV esa gksrk gSA  ¼lR;@vlR;½ 

10. The egg remains in the uterus for 14 hours.(True/False) 

v.Mk ;wVjl esa 14 ?k.Vs rd jgrk gSA ¼lR;@vlR;½ 
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